
 

   

CLASS IX  RS Aggarwal Solutions 

LINEAR EQUATIONS IN TWO VARIABLE - CHAPTER – 4 
 

EXERCISE – 4A 
Answer.1.  

 (i) 𝟑𝒙 +  𝟓𝒚 =  𝟕. 𝟓 

      We have, 

         ⇒ 3𝑥 +  5𝑦 −  7.5 =  0 

⇒ 6𝑥 +  10𝑦 −  15 =  0 

Comparing this equation with 𝑎𝑥 +  𝑏𝑦 +  𝑐 =  0, we get 

𝑎 =  6, 𝑏 =  10 𝑎𝑛𝑑 𝑐 =  −15 

(ii) 𝟐𝒙 −  
𝒚

𝟓
 +  𝟔 =  𝟎 

We have, 

2x - 
𝑦

5
 + 6 = 0 

⇒ 10𝑥 –  𝑦 +  30 =  0 

Comparing this equation with 𝑎𝑥 +  𝑏𝑦 +  𝑐 =  0, we get 

𝑎 =  10, 𝑏 =  − 1 𝑎𝑛𝑑 𝑐 =  30 
  

(iii) 𝟑𝒚 − 𝟐𝒙 =  𝟔 

We have, 

3𝑦 −  2𝑥 =  6 

⇒ -2x + 3y - 6 = 0 

Comparing this equation with 𝑎𝑥 +  𝑏𝑦 +  𝑐 =  0, we get 

𝑎 =  − 2, 𝑏 =  3 𝑎𝑛𝑑 𝑐 =  − 6  

  

(iv)  4x= 5y 

We have, 

4𝑥 =  5𝑦 
⇒  4𝑥 −  5𝑦 =  0 
Comparing this equation with 𝑎𝑥 +  𝑏𝑦 +  𝑐 =  0, we get 
𝑎 =  4, 𝑏 =  − 5 𝑎𝑛𝑑 𝑐 =  0  
 

 (v)   
𝐱

𝟓
 - 

𝐲

𝟔
 = 1 

We have, 

𝑥

5
 −

𝑦

6
  =  1 

⇒  (6𝑥 − 5𝑦)/30  =  1 
⇒  6𝑥 −  5𝑦 =  30 
⇒  6𝑥 −  5𝑦 −  30 =  0 
Comparing this equation with 𝑎𝑥 +  𝑏𝑦 +  𝑐 =  0, we get 

𝑎 =  6, 𝑏 =  − 5 𝑎𝑛𝑑 𝑐 =  − 30 

 (vi) √𝟐𝒙 + √𝟑𝒚 = 𝟓  

We have, 

√2𝑥 + √3𝑦 =  5 

⇒ √2𝑥 +  √3𝑦 –  5 =  0  
Comparing this equation with 𝑎𝑥 +  𝑏𝑦 +  𝑐 =  0, we get 

a = √2, b = √3 and c = -5  

 

Answer.2.  

(i)   𝒙 =  𝟔 

We have, 

 𝑥 =  6 

⇒  𝑥 –  6 =  0 
⇒  𝑥 –  0𝑦 –  6 =  0 
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Comparing this equation with 𝑎𝑥 +  𝑏𝑦 +  𝑐 =  0, we get 

𝑎 =  1, 𝑏 =  0 𝑎𝑛𝑑 𝑐 =  − 6 

 

(ii) 𝟑𝒙 –  𝒚 =  𝒙 –  𝟏 

We have, 

3𝑥 –  𝑦 =  𝑥 –  1 
⇒  3𝑥 –  𝑥 −  𝑦 +  1 =  0 

⇒  2𝑥 –  𝑦 +  1 =  0 

Comparing this equation with 𝑎𝑥 +  𝑏𝑦 +  𝑐 =  0, we get 

𝑎 =  2, 𝑏 =  − 1 𝑎𝑛𝑑 𝑐 =  1 

 (iii)  𝟐𝒙 +  𝟗 =  𝟎 

We have, 

2𝑥 +  9 =  0 
⇒  2𝑥 +  0𝑦 +  9 =  0 
 

Comparing this equation with 𝑎𝑥 +  𝑏𝑦 +  𝑐 =  0, we get 

𝑎 =  2, 𝑏 =  0 𝑎𝑛𝑑 𝑐 =  9 

 (iv) 𝟒𝒚 =  𝟕 

We have, 

4𝑦 =  7 
⇒  0𝑥 +  4𝑦 −  7 =  0  
Comparing this equation with 𝑎𝑥 +  𝑏𝑦 +  𝑐 =  0, we get 

𝑎 =  0, 𝑏 =  4 𝑎𝑛𝑑 𝑐 =  − 7  

 (v) 𝒙 +  𝒚 =  𝟒 

We have, 

𝑥 +  𝑦 =  4 
⇒  𝑥 +  𝑦 −  4 =  0  
Comparing this equation with 𝑎𝑥 +  𝑏𝑦 +  𝑐 =  0, we get 

𝑎 =  1, 𝑏 =  1 𝑎𝑛𝑑 𝑐 =  − 4 

 

 (vi) 
𝒙

𝟐
−

𝒚

𝟑
=

𝟏

𝟔
+ 𝒚 

We have, 

𝑥

2
−

𝑦

3
=

1

6
+ 𝑦  

⇒  
𝑥

2
−

𝑦

3
− 𝑦 =

1

6
 

⇒  
3𝑥− 2𝑦 − 6𝑦

6
=

1

6
 

⇒  3𝑥 –  8𝑦 =  1 
⇒  3𝑥 –  8𝑦 –  1 = 0 

Comparing this equation with 𝑎𝑥 +  𝑏𝑦 +  𝑐 =  0, we get 

𝑎 =  3, 𝑏 =  −8 𝑎𝑛𝑑 𝑐 =  − 1 
 
 

 

Answer.3.  

(i) (4,0) 

Equation is 5x - 4y = 20 

Substituting x = 4 and y = 0 in L.H.S. of equation,  

L.H.S. = 5x - 4y 

= 5(4) - 4(0) 
= 20 - 0 

= 20 
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= R.H.S. 

Hence, (4, 0) is the solution of the equation 
 

  

(ii) (0,5) 

Equation is 5x - 4y = 20 

Substituting x = 0 and y = 5 in L.H.S. of equation,  

L.H.S. = 5x - 4y 

= 5(0) - 4(5) 

= 0 - 20 

= -20 

≠ R.H.S. 

Hence, (0, 5) is NOT the solution of the equation.  
 

 (iii) (−𝟐,
𝟓

𝟐
) 

Equation is 5x - 4y = 20 

Substituting x = -2 and y =(
5

2
)  in L.H.S. of equation,  

L.H.S. = 5x - 4y 

= 5(-2) – 4(
5

2
) 

= -10 - 10 

= -20 

≠ R.H.S. 

Hence, (−2,
5

2
) is NOT the solution of the equation. 

 

 (iv) (0, -5) 

Equation is 5x - 4y = 20 

Substituting x = 0 and y = -5 in L.H.S. of equation,  

L.H.S. = 5x - 4y 

= 5(0) - 4(-5) 

= 0 + 20 

= 20 

= R.H.S. 
Hence, (0, -5) is the solution of the equation. 

 (v) (𝟐 ,
−𝟓

𝟐
) 

Equation is 5x - 4y = 20 

Substituting x = 2 and y = (
−5

2
) in L.H.S. of equation,  

L.H.S. = 5x - 4y 

= 5(2) - 4(
−5

2
) 

= 10 + 10 

= 20 

= R.H.S. 

Hence, (2 ,
−5

2
) is the solution of the equation. 

 

Answer.4.  

(i) Equation is 𝟐𝒙 −  𝟑𝒚 =  𝟔 

Substituting 𝑥 =  0 in the equation, 
2(0)  −  3𝑦 =  6 
⇒  0 −  3𝑦 =  6 
⇒  3𝑦 =  −6 
⇒  𝑦 =  −2 
So, (𝟎, −𝟐) is the solution of the equation. 
Substituting 𝑦 =  0 in the equation, 
2𝑥 −  3(0)  =  6 
⇒  2𝑥 −  0 =  6 
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⇒  2𝑥 =  6 
⇒  𝑥 =  3 
So, (𝟑, 𝟎) is the solution of the equation. 
Substituting 𝑥 =  6 in the equation, 
2(6)  −  3𝑦 =  6 
⇒  12 −  3𝑦 =  6 
⇒  3𝑦 =  6 
⇒  𝑦 =  2 
So, (𝟔, 𝟐) is the solution of the equation. 
Substituting 𝑦 =  4 in the equation, 
2𝑥 −  3(4)  =  6 
⇒  2𝑥 −  12 =  6 
⇒  2𝑥 =  18 
⇒  𝑥 =  9 
So, (𝟗, 𝟒) is the solution of the  equation. 
Substituting 𝑥 =  −3 in the equation, 
2(−3)  −  3𝑦 =  6 
⇒  − 6 −  3𝑦 =  6 
⇒  3𝑦 =  −12 
⇒  𝑦 =  −4 
So, (−𝟑, −𝟒)is the solution of the equation. 
 

(ii) Equation is
𝟐𝒙

𝟓
+

𝟑𝒚

𝟏𝟎
= 𝟑 

      ⇒
4𝑥+3𝑦

10
= 3 

      ⇒ 𝟒𝒙 + 𝟑𝒚 = 𝟑𝟎                                                          …(i) 

Substituting 𝑥 =  0 in (𝑖), 
4(0)  +  3𝑦 =  30 
⇒  3𝑦 =  30 
⇒  𝑦 =  10 
So, (𝟎, 𝟏𝟎) is the solution of the equation. 
Substituting 𝑥 =  3 in (𝑖), 
4(3)  +  3𝑦 =  30 
⇒  12 +  3𝑦 =  30 
⇒  3𝑦 =  18 
⇒  𝑦 =  6 
So, (𝟑, 𝟔) is the solution of the equation. 
Substituting 𝑥 =  −3 in (𝑖), 
4(−3)  +  3𝑦 =  30 
⇒  − 12 +  3𝑦 =  30 
⇒  3𝑦 =  42 
⇒  𝑦 =  14 
So, (−𝟑, 𝟏𝟒)is the solution of the equation. 
Substituting 𝑦 =  2 in (𝑖), 
4𝑥 +  3(2)  =  30 
⇒  4𝑥 +  6 =  30 
⇒  4𝑥 =  24 
⇒  𝑥 =  6 
So, (𝟔, 𝟐) is the solution of the equation. 
Substituting 𝑦 =  −2 in (𝑖), 
4𝑥 +  3(−2)  =  30 
⇒  4𝑥 −  6 =  30 
⇒  4𝑥 =  36 
⇒  𝑥 =  9 
So, (𝟗, −𝟐) is the solution of the equation. 
 

 

 

 



 

   

CLASS IX  RS Aggarwal Solutions 

(iii) Equation is 𝟑𝒚 =  𝟒𝒙 
Substituting 𝑥 =  3 in the equation, 
3𝑦 =  4(3) 
⇒  3𝑦 =  12 
⇒  𝑦 =  4 
So, (3, 4) is the solution of the equation. 
Substituting 𝑥 =  −3 in the equation, 
3𝑦 =  4(−3) 
⇒  3𝑦 =  −12 
⇒  𝑦 =  −4 
So, (−3, −4) is the solution of the equation. 
Substituting 𝑥 =  9 in the equation, 
3𝑦 =  4(9) 
⇒  3𝑦 =  36 
⇒  𝑦 =  12 
So, (9, 12) is the solution of the equation. 
Substituting 𝑦 =  8 in the equation, 
3(8)  =  4𝑥 
⇒  4𝑥 =  24 
⇒  𝑥 =  6 
So, (6, 8) is the solution of the equation. 
Substituting 𝑦 =  −8 in the equation,  
3(−8)  =  4𝑥 
⇒  4𝑥 =  −24 
⇒  𝑥 =  −6 
So, (−6, −8) is the solution of the equation. 

Answer.5. Given x = 3 and y = 4 is a solution of the equation 5x - 3y = k,  

Substituting x = 3 and y = 4 in equation 5x - 3y = k, we get 

5(3) - 3(4) = k 

⇒ 15 - 12 = k 

⇒ k = 3  

 

Answer.6. Given x = 3k + 2 and y = 2k - 1 is a solution of the equation 4x - 3y + 1 = 0,  

Substituting these values in equation, we get 

4(3k + 2) - 3(2k - 1) + 1 = 0 

⇒ 12k + 8 - 6k + 3 + 1 = 0 

⇒ 6k + 12 = 0 

⇒ 6k = -12 

⇒ k = -2 

 

Answer.7. Let the cost of a pencil and cost of ballpoint to be ₹ x and ₹ y respectively. 

So, 

Cost of 5 pencils = ₹ 5x 

Cost of 2 ballpoints = ₹ 2y 

According to question, 
 5x = 2y 

⇒5x - 2y = 0    

⸫ Required Equation, 5x - 2y = 0  

 

 

 

 




